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fagg: wforg (Maths)
HET— 10
HY: 3w 15 fre qUits: 80
QoS — I
SECTION- A

1. qgfAdcdl U (9 wi): =1 gl @& SR &1 98l Adcy 999 &% SR gRasr A
forRag |

Choose the correct answer from multiple choice question- (i to xvi) and write in given
answers book.

(i) 1Rl 6 3R 20 BT IHTY [UFEVS (A H LMz — 1

@) 2 @ 120 F) 60 () 6

LCM of 6 and 20 by the prime factorization method 15 -

A 2 B) = 120 ) 60 O 6

(i) 98US x> —7x+12P YD &I AT & — 1

@) -7 @ 7 F 12 (]) -12

Sum of the zeros of pulynnmiaif —Tx+12 is -

(A) -7 (B) 7 () 12 (D) -12

(i) THIHROT 3x+2p=7H Aidx &1 AF 5 B Ay DI A9 & — 1

@) 4 @) —s8 (|) —4 ® o

In the equation 3x+2y =7, if the value of x is 5, then the value of y is -

(A) 4 () -8 () -4 (D) o

(iv) <1 7S IMHRT H DE11BC, AD=1.5cm, DB =3 cm TAT AE = 2cmE @ EC & A & 1
i

U'1\\

=

@)  edHl @) 4 T (|) %_5 T4 () 35 |Hl

In the given figure DE Il BC, AD = 1.5 cm, DB = 3 cm and AE = 2 cm, then the value of EC is -
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(A) 6 cm (B) 4 cm - 4.5cm (D) 3.5cm

(v) fa=gall (2,3) 3R (56) & a1 @ X &— 1
@) 243 @) 32 (%) 18 (&) 6
The distance between the points (2,3) and (5,6) is -
(&) 243 B) 32 © 18 (D 6
(i) afE o=457ar ar 15O e & 1
sin 20
@) 1/2 @) 2 &) o @ .1
If 8 =45"then the value of I_IEDS 2 is -
sin 260
(A) 1/2 (B) 2 (C) 0 (D) 1
(vi)) TP SeAR B B oIS T IS BRI & e BT I 143
B A g BT I DI B— 1
@) 300 @) 45° (|) 60" () 90°

If the ratio of length of vertical rod and length of its shadow is 1 : \@ then the angle of elevation of sun
Is-

(A)  30° (B) 45° (C)  60° (D)  90°
(viii) af¢ T A7 P & 0 = drel fH1 g0 R A, PB TIT XN TRER 80° D IV TR
g1 8 a1 LPOASRTER &~ 1
(@)  50° (@) e0° (&) 70° () 80°

If tangents PA and PB from a point P to a circle with center O are inclined to each other at angle of 80°
then ZPOA is equalto -

(A) 50° (B) 60° (C) 70° (D) 80"
(ix) 14 T AT a6l 97 H g9 Iq 99 DI URE BRT— 1
(@) 22 9 (@) 44 I (@) 33 9491 (B) 55 WHI
The circumference of incircle of a square with side 14 cm is -
(A) 22 cm (B) 44 cm (C) 33cm (D) 55 cm
(x) DrOTOTT FBrougve & T A9 B =S B 1
(31) U e €) ! il (9) Y e ) S
180° 360° 90° 720°
Length of an arc of a sector of angle is -
(A) X 27TF (B) xX27r (C) x27r (D) X 27Tr
180° 360° 90° 1207
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(ki) 9 P TP US BT URATT 28 VHI & A O $HT ATIAT 5— 1
(@) 343 TEP @) 196 HH1 () 294 |HP (]) 4144 TP

The perimeter of surface of a cube is 28 cm, then the volume of the cube is -

(A) 343 cm? (B) 196 cm? (C) 294 cm? (D) 4144 cm?

(xii) U R9g® BT ST IR TBT Sl 2| HH H $H TP (ad MM & IifidHbar 2 — 1
@) 1/4 @ 1/2 @) 3/4 (®) 1

A coin is tossed twice. The probability of getting at least one head is -

(A) 1/4 (B) 1/2 (C) 3/4 (D) 1

(xiii) FEH ~gATH T T /27 BT O B TR UH UThd Wl UK el &,d8 81
(31) 3 @) 3 () 9 (@) 343

The lowest number, when multiplied by \/E gives a natural number is -

(A) 3 ®) 3 (€) 9 (D) 33

(xiv) 98US &b X’ - x—6 TP ©— 1
@) 1.6 @) 2, -3 ®) 3—2 (@)1—-6

Zeros of polynomial x'—x—6are-

(A) 1,6 (B) 2,-3 (C) 3,2 (D) 1,-6

(xv) THTBROT 3x-Sy+K=0 H T x=2 TRAT y=-2 &I QI K BT A9 & — 1
@) 16 @ -6 @) 6 (®) —186

In equation is 3x-5y+K =0, if x=2 and y=-2 then the value of K is -

(A) 16 (B) -6 (C) 6 (D)  -16

(xvi) AD 3R pM f3R[SIT ABC 3R PQR &1 HHEI ATRISN 8, Wafd AABC~APQR

2 If< AB:PQ=3:5 ¥ I AD:PM & — 1
@) 53 @) 9:25 (| 35 () 25:9

AD and PM are medians of triangle ABC and PQR respectively, where AABC~APQR, if AB:PQ = 3:5
then AD:PM is -

(A) 53 (B)  9:25 (€ 35 (D) 25:9
(xvii) 10 #IeR S MR & RRER ¥ gl R U 95 &1 g8 <101 300 2| =g <l
AR & MR H N o— 1
@) 103 iR (3) %fﬁﬁ? (|) 10 #rex (8) 543 #ex

From the top of 10m high tower, angle of depression at a point on earth is 30°, distance of point from
base of tower is -

A)  1043m (8) %m (C) 10m (D) 543 m
(xviii)UP SRR T B UROIE,TH Dl $dly d X6 & af I B I DIV EFT—1
@)  45° @) 30° (F) 600 () 50°
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The shadow of a vertical pillar is same the height of pillar, the angle of elevation of sun will be -

(A)  45° (8)  30° (C)  60° (D) 50°

2. b I & gfd ST (9 vi)

Fill in the blanks (i to vi)

() Tf< 3,7,9,x5 BT FHIRK ALY 6 B dl x BT A ... BIT| 1

The arithmetical mean of distribution 3.7.9. x5 1s 6, then value of x will be ... ... ... ..

R S

(i) fa=gatl (3,a) 3R (4,1) B 97 &1 A V10 B AT a BT A ... BT | 1
If distance between points (3.a) and (4.1) 1s V10 then a will be ...

(iii) 2sin’ 60°cos60°®T A & ... 1

The value of 2sin’ 60° cos60°is ................

(v) U 9o & RN &1 9% 154012 TAT IHD! $Hdls 21 FHl & g4 BT AT ...
B 1

The volume of cylinder whose height is 2lcm and area of its one end is 154cm?, will be

(v) §€1 357,421,434 HT gD ... ©| ’
The mode of the distribution 3,5,742.14341s ... ...

(vi) 10 3R 250 & ST § . WY, 4 B IO © | 1

_______________ numbers between 10 and 250 are multiples of 4.

3. A TYxRIAD T

Very short answer type questions-

() 99 g9 3 e s s f9aT &% 497 T I B | 1

Find the radius of the circle whose area is 497 cm?.

(i)TH 9T BT Bhpd YR FH 3P I B YIASBdT ST DT | 1

Find the probability of getting an even number on throwing a dice.

(iii) 1099 oI arel 9 @ B9 B oI A DI | 1

Find the length of the diagonal of a cube of side 10cm.

(iv) TP TN @ D ARMR DI 9T 58H TAT HaTs 12 9 & d U@ 3 add
$ATs STd DITTY | 1
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If the radius of base of a right circular cone 1s 5cm and height 1s 12¢m then find the slant
height of the cone.

(v) §€9 1,3,2,5,9,11 BT ARGDH HATT DIFIT | 1
Find the median of the distribution 1,3,2,5.9.11.

(vi) §€1 3,7,5,2,6 BT AT FTd DI | 1

(vii) afe p(A)=0.65 B, T "A T&I" P UIASHAT STd DT | 1

If P(A)=0.65, then find the probability of "not A".

(viii) TH BT IMITA S B HT G forfayg | 1
Write the formula to find the volume of a cone.

(ix) a7 Tt (10—25) &7 T g S B 1
Find the class mark of the class interval (10-25).

(x) T 99 H 7 il TUT 3 WO P&l AT T g A ¥ UF Dl Argedl Mater
ST &, O SH! 71 Yiear 2 & a8 &= 9w 27 1

A box contains 7 blue and 3 white marbles. If a marble drawn at random from the box, what
is the probability that it will be "white"?

(xi) AT TP I BT ATTAT. 4487z TP 3R Ss 7 TH1 & Ol do1 DI B=rear §d

I | 1
[f volume of cylinder is 4487 cm® and height is 7 ¢cm then find radius of cylinder.
(xii) Fe¥ 10 fOwH UTHd AR BT AT ARG S0 HIFY | 1
Find the arithmetic mean of the first 10 odd natural numbers.
g rs— q
SECTION-B
4. fig BIRT3+2/57a Ay ww=m 2| 2

Prove that 3+ 2\/5 is irrational.

5. 9gUSx’ -3 Y A HINY AR IR T oDl & 4 & T B Fdl Bl g
BITSTY | 2

Find the zeros of the polynomial x* —3 and verify the relationship between the zeroes and the
coeffcient.
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6. ST 3B P Th TEIT Ud IHSP APl DI Iolcd W g+ AT $T INT 66 © | T G&T
P 3B AN 2 B O G&IT TG DT | Ul ST fhaet g 2

The sum of a two-digit number obtained by reversing the digit is 66, 1f the digit of number differ
by 2, find the number, how many such numbers are there.

7. afe fd AP. b UUH 14 UST PT TN 1050 & TAT SHHT Y9 US 10 €, df 20 o US
ST HIfeIY | 2

If the sum of the first 14 terms of an A.P. is 1050 and its first term is 10, find the 20™ term.

8. © g 3MEBIA H AODC~AOBA ,£BOC = 125°3FR2CDO=70° & & LOAB
DI | 2

In given figure AODC~AOBA ,£B0OC = 125% and ZCDQO =70% then find ZOAB.

Find the coordinates of the po
B(-7.4)

nts of trisection of the line segment joining the points A(2.-2) and

1
5
STd BT | 2

2,

i

11. 15 HIeR &9 TP Y&Tdh Ua A1 | 285 Hlex B R W B SH! 3@ o =FE
% BRER &1 S=1a9 BT 45° 2| R 31 Sar8 9arsd | 2

10. T tan(A+B)=+33R tan(A-B)=—:0°<A+B<90°;A>B2 @ A 3R B &T A

If tan(A+B)=+/3 and tan(A-B)=—:0° < A+B<90°;A >BFind A and B.
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A tower stands vertically on the ground. from a point on the ground which 1s 15m away from the
foot of the tower, the angle of elevation of the top of the tower is found to be 60", find the height
of the tower.

12 T Fh=d gl 3 A 5 T T1 3 T 2| g g DI I Sidl B oy S
HINY Sl BIC T B WY B 8| 2

Two concentric circle are of radil 5cm and 3cm. find the length of the chord of the larger circle
which touches the similler circle.

13. F3I501 12 91 910l Ud 99 B DI ONdl s UR 120° BT HIVT JAART Bl & | G
gGUE DI HFAGA T DITOTY | 2

A chord of a circle of radius 12cm subtends an angle of 120" at the eentre. find the area of the
corresponding segment of the circle.

gus— q
SECTION-C

14. IS T AP. & U 7 UGT &1 TNT 49 & 3R UUH 17 UG PT INT 289 &, O D

Yl n UGl BT INT ST BHIFIT | 3
If the sum of first 7 terms of an A P. 1s 49 and that of 17 terms is 289_ find the sum of first n
terms.

gl / OR
g8 AP. ST Bty et iERT Ug 16 &, 3R 7 @1 ¥S 5.4 U< 9 12 AJ0F 3| 3
Determine the A P. whose third term is 16 and the 7" term exceeds the 5™ term by 12.

15. <uIsd b =g (1, 7). (@, 2), E1.—1) 3R (4, 4) & T & AN 7| 3
Show that the point (1, 7). (4, 2), (—1,—1) and (—4.4) are the vertices of a square.
=141/ OR

afg A IR B FA: (—2,—2) R (2—4) & @ g p & Frawne =d PiIfQ arfe
AP=%ABE’r3ﬁ?p%W€AEW@HE’H 3

3
If Aand B are (-2,-2) and (2,-4) respectively, find the coordinate of P such that AP = EAB and P lies on

the line segment AB.

16. g @Y & 50 99 & aRva IR IgHs FHaoT 8ar & | 3
Prove that the parallelogram circumscribing a circle is rhombus.

34T / OR
Rrg @INT 5 g9 @ aRTd 99 I B AFE—ITHT @1 oIl ds 0 GRS BT
JrafRka &l 2| 3

Prove that opposite sides of a quadrilateral circumscribing subtends supplementary angles at the centre
of the circle.
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17. U HeT & BE & IR = 9roil § oy 1 82—

qR (o &) | 20 21 22 23 24 25 26 27 28
BTAl B 1 2 8 7 4 2 3 2 3
el
2Pl HHTAOY HE Sild E-."‘5.||%[Q| 3
The weight of students in a class are given in the following table.
Weight | 20 21 22 23 24 25 26 27 28
(in
Kgs.)
No.of |1 2 6 7 1 2 3 2 3
Students

39T / OR
afe =1 99 &1 91 7.5 &1, I P BT 71 A SINN | 3
X 3 5 7 N 11 13
f 6 8 15 P 8 -
[f mean of the following distribution is 7.5, then find the value of P.
X 3 3 ) 9 11 13
f 6 8 15 P 8 -

gus— q

SECTION-D
18. U HHSIY 39l @ $d18 S MR ¥ 7 94 &9 & afe B9 13 §H &1 8,
3G I YOI} S DIToTY | 4

The attitude of a right angled triangle 1s 7cm less than its base. If the hypotenuse 1s 13cm, find the
other two sides.

372AT / OR
S 3x1—2x+%=ﬂaﬂﬁﬁaﬂwwaﬁﬁmaﬁ?ﬁﬁﬂ?ﬁaﬁm§ﬁfﬁmaﬁﬁﬁql
gfe g ardfasd &, d S Siid dIfog | 4

Find the dircriminant of the equation 3x*-2x="/5=0 and hence find the nature of its roots. Find them, if

they are equal.

19. RIg @IfoT — JlerSA = cosecA + cotA 4

l—cos A
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l1+cosA
Prove Th at\/ = cosecA + cotA

l-cos A
YAl / OR
Ii:@ ﬂ%”%ﬂq — 4
sin® A + cos® A=1—3sin’ Acos® A
Prove That
sin® A + cos® A=1-—3sin’ Acos® A
20. 71 IRAERAT 929 | 8o Hd HIFTT— 4
PINSIETD 2030 30—40 40—50 50—60 60—70
BE D G | 4 28 42 20 &
Find the mode of following frequency distribution.
Marks Obtained 20-30 30-40 40-50 50-60 60-70
No. of Students 4 28 42 20 6
YAl / OR
100 IRART ¥ F=a1 &1 9T 91 UbR T, 90T JrId ST DIfviv — 4
q=al Dl EET 0—2 2—4 4—6 6—8 8—10
gRarRT &1 97 | 38 16 18 5 3
The number of children in 100 families are as follows, find their median.
No. of Children 0-2 2-4 4-6 6-8 8-10
No. of Families 38 36 18 5 3
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